___ SuyvirtEcH

*
S L
)
=N
g@
- — SN
) Y RES S
B 'E i~ ﬁ i
1SO n-oos .J’E
E l:'nn -% E ﬂ&% Certificate No.:AJAD2/5717
. > E i =3
FREARR T N E RS RS E RS, WRIMRMEREE (MHED5EE)
e, = Eo =i . A. i
W EEAMERLENER T HIRESE, BfceRtRtrEnE
FHERAT): Hong Kong Headquarters: (For Import & Export Sales) (7))
1}
SFEITH(FE)HBAT Silvertech Industrial (H.K.) Ltd. =
B8 IR EERALE ) (221085 Rm.2108, Ho Lik Centre, 66A Sha Tsui Road, Tsuen Wan, Hong Kong. g
B\EE: (852) 2499 9168 Tel: (852) 2499 9168 L
fHE: (852) 2417 9183 8343 6887 Fax: (852) 2417 9183 8343 6887 =
B/ sales@silvertech.com.hk Email: sales@silvertech.com.hk g
@ik www.silvertech.com.hk Web Site: www.silvertech.com.hk ==
: _ , 0
HESAT] China Guangdong Branch Office: (For Domestic Sales) °
DR TR RAT Silvertech Industrial (Dong Guan) Ltd. 5
O T SRS 5K 2328 SRR AR Silvertech Building, 23 Qiao Long Road, Tangxia, Dongguan, Guangdong, China. .
=55 (B6-769) 8798 1699 8798 2699 Tel: (86-769) 8798 1699 8798 2699 :
8625 2718 (104%) 8625 2718 (10Lines) *
{85 (86-769) 87981313 86252719 Fax: (86-769) 8798 1313 86252719
T EL: dgoffice@silvertech.com.hk Email: dgoffice@silvertech.com.hk
BEHEE: China Qingdao Sales Office: (For Domestic Sales) Lz
EE T B R B8 R3S Rm.B413, No, 268, Ningxia Road,Qingdao ,Shandong, China -ﬁﬂ
BT:E: (86-532)8575 5305 Tel :(86-532) 8575 5305 E
A (86-532)85715015 Fax : (86-532) 8571 5015 =
EE: gdoffice@silvertech.com.hk Email: gdoffice@silvertech.com.hk
TR China Shen Zhen Factory:
SREEEBNFIECEINFRAT Madler-Silvertech Power Transmission Components (Shen Zhen) Ltd.
PREB IR : China Cheng Du Factory:
PLEBSREIE S eREIERR AT Cheng Du Silvertech Timing Pulleys Manufacturing Ltd. ® —
S7T71 SREESENE High Quality Power Transmission Products
FHIE: China Chang Zhou Factory: | toch hk
ENEREHEE{FHERA T Chang Zhou Silvertech Power Transmission Products Ltd. www.silvertech.com.

¥ ILsFEFE: (852) 2499 9168. (86) 138 2697 1737

2= o i IR A7 % b

for industrial Products

T
o
Certificate No.:AJA02/5717

VN AYS
s
%

*

4=



 SuvirrEcH SIIVERTECH

LR -

KU T ESERAT - -HaITFI902F, BBHTFES HATNIHRTrEAG. ARNIBY | ﬁi Director
BRAETEAE ST RMBTHSERETROBSHRN, HONFERERACHRSE, FRtn 3
EAPERE. K4 BABEORE. B+, BAH. 2H. AANLEZERTHENBHETEE
2. HARELHARECSMOANERHBAR.

EREF -+ ERBBAMATERFOECH, ROTHOBE THRE. THES REMBTT
BEGER, ENNELRNTEERMBBNMEE. RHILEH FMHEH - —£EEHR - 48
- -AEEREN- -HEAR - - HIRE- -BRC4E- -BRIE- -£ERBESS. 5-BH%H B #h 22 % 5l COUPLING ‘ 001_010‘
RMEIRERE, ARRMISREAGEIEFNERT EATNRENRARD

ERFACHERENBNEATHARNNRBE, AXANTETES, X2, R 56, AHHE
W, SROBHIEEME—ZHFHELART0EY, SEANH TEXRENELES BULIEFMAY
PIRE 5 % % 5 Bl |011—027|

CREMIE ARFRN STEERMIRE, EE2HEFMER.

About us HwRI SPROCKET ‘ 023—047‘

Silvertech Industrial (HK) Ltd was established in 1992, with its headquarter in Hong Kong, and branches as well as

factori%s in mainland China. Our business focuses on the production of high quality power transmission parts under the
brand STT

we are the exclusive dealer in the Greater China Area for a few world-renowned high tech industrial products from
Germany, Switzerland, ltaly, USA, Japan and Taiwan.

Our products are very popular in the global markets, such as Europe, North American, and Greater China Area. In addition, — TIMING BELT PULLEY
GEX I EX] | 048-092

We are growing stronger with almost twenty years experience of serving clients in overseas and Greater China Area.
Silvertech Industrial has well developed world reputation and brand loyalty. We arm to provide perfection in our value net,
such as procurement of material, production management, quality control, stock and storage, marketing, technical

support, logistics, and after sale service. It is our ultimate goal to maintain the trust from our clients and continue with IE ﬁ_ Eb SPUR GEAR 093_ 1 04
i % 5l

sustainable growth.

Qur company engages in systemic on the job training and invests in corporate human resource. We have developed an
extremely competent and dedicated team working in Hong Kong, Dongguan, Shenzhen, Qingdao, Chengdu, and
Changzhou. We are known as the company providing the best products and service for our customers.

Our promise: Silvertech - Your 1st choice for Industrial Products Em g _F % ;IJ SHAFT COLLAR | 105-107 |

We take this promise as our responsibility.

AT)FA ER. . SEEREARE BTHE—SHNEEFH, BTEAGRESHENRENER. TAPER BUSH
E: e —— = "wéw' > ‘ﬁﬁ g % ;u ‘108—110‘

1

. %;wy/;/lw/frw

(4 . o
Lerdsfrreefe

X
-
£
0
r
-
T
0
\
=
0
>
“
S
S
S

ﬂﬁﬁﬁﬁ?&g%ﬂ] LOCKING ASSEMBLY ‘111—165‘




— SuyvirtecH

HY1100 LdVHS
lif 3 [ 28§

B, EBHENLRZER

Shaft Collars, Clamp Collars Double-Split

ME CA5 AR, T 1.4301 , 45 6061

FmEE  NMIEW  MEREDR
mEREFHRED® 5 H TH L

BERT  SRERA.

EE b /AZ : +0.08mm/-0.25mm
MiESEE : -40°C ~+175°C

Material:  Steel C45 burnished.
Stainless steel 1.4301.
Aluminium 6061.
Features: does not damage the shaft, stronger clamping force
than with set collars, even distribution of clamping forces, easy
readjustment, precision honed bores.

Tolerance b; +0-08 mm
-0.25 mm

“HFF

*Double split
“*f14}:.C45

"*Material:

45

WILEE
Temperature range: -40°C to +175°C. Bore dia
Product No. Product No. Product No. d, d, R b Screws Weight Steel ~ Weight Alum.

Steel Stainless Steel Aluminium mm mm mm mm DIN 912 g g
0030904 0030994 0030964 3 16 20.7 9 M3x 8 12 4
0040904 00409 94 004 096 4 4 16 20.7 g M3x 8 1 <+
0050904 00509 94 0050964 b 16 20.7 9 M3x 8 11 4
006 09 04 006 09 94 006 09 6 4 6 16 20.7 2 M3x 8 10 3
0070904 0070994 007 096 4 7 18 22.4 9 M3x 8 13 4
0080904 00809 94 008 09 6 4 8 18 224 9 M3x 8 12 4
0090904 00909 94 0090964 9 24 26 9 M3 x 8 25 9
0100904 01009 94 010096 4 10 24 26 9 M3x 8 24 8
0111104 0111194 0111164 ik 28 31.8 11 M4 x 12 40 14
0121104 0121194 0121164 12 28 318 11 M4 x 12 39 13
0131104 0131194 0131164 13 30 33.9 il M4 x 12 45 16
0141104 0141194 0141164 14 30 339 11 M4 x 12 43 15
0151304 01513 94 0151364 15 34 394 13 M5 x 14 68 23
0161304 01613 94 016 13 6 4 16 34 394 11| M5 x 14 65 22
0171304 01713 94 017136 4 17 36 41.2 13 M5 x 14 74 26
0181304 01813 94 018136 4 18 36 41.2 il M5 x 14 71 24
0191504 0191594 019156 4 19 40 46.4 15 M6 x 16 104 36
0201504 0201594 020156 4 20 40 46.4 15 M6 x 16 101 35
0211504 0211594 021156 4 21 42 48.1 15 M6 x 16 113 39
0221504 0221594 022 156 4 22 42 48.1 15 M6 x 16 107 37
0231504 0231594 023 156 4 23 45 50.8 15 M6 x 16 127 44
0241504 0241594 024156 4 24 45 50.8 15 M6 x 16 122 42
0251504 0251594 025156 4 25 45 50.8 15 M6 x 16 120 41
0261504 02615 94 026 15 6 4 26 48 537 15 M6 x 18 139 48
0281504 0281594 028 156 4 28 48 53.7 15 M6 x 18 128 44
0301504 0301594 030156 4 30 54 58.6 15 M6 x 18 171 59
0321504 0321594 0321564 32 54 58.6 15 M6 x 18 161 56
0341504 0341594 034156 4 34 57 61.6 15 M6 x 18 181 62
0351504 0351594 0351564 35 57 61.6 15 M6 x 18 172 60
0361504 0361594 036 156 4 36 57 61.6 15 M6 x 18 169 59
0381504 0381594 0381564 38 60 65 15 M6 x 18 183 63
0401504 0401594 040 156 4 40 60 65 15 M6 x 18 172 59
0421904 0421994 042196 4 42 73 79.4 19 M8 x 25 383 132
0451904 04519 94 045196 4 45 7] 79.4 19 M8 x 25 360 124
0481904 04819 94 048 196 4 48 78 84.2 19 M8 x 25 414 143
0501904 05019 94 050 19 6 4 50 78 842 1k M8 x 25 386 133
05519 04 0551994 - 55 82 88.8 19 M8 x 25 395 =
0601904 06019 94 - 60 88 94.0 19 M8 x 25 440 -
06519 04 06519 94 = 65 93 99.8 19 M8 x 25 465 -
0701904 07019 94 - 70 98 104.5 19 M8 x 25 495 -
0751904 0751994 - 75 103 109.1 19 M8 x 25 525 =
0801904 0801994 - 80 108 113.8 19 M8 x 25 550 -

MH4FEEE Remarks to collars from steel
REBEENFE K TUENRSHNTERELNE , FARETH LITENTREMEAHLE FRNSE, 1t
ARBECECEREHFER BN L EASRENHRRL  REARNMETH L.
The black oxide on the clamping collars is formulated as part shaft, has anti-stick-slip characteristics and helps to keep the
of the total performance of the product. It enhances the hold- torque rating of the screw within its designed parameters. The
ing ability of the collar, it efficiently reduces slipping on the oxide layer also provides corrosion protection.

*»*“0"C45 “6"HAF 6061 9" TN 1.4301

» “ 0" FFFE ~Without split

107

“ 1" BFFHE Single split

“ 47 JFFHE Double split
www.silvertech.com.hk

® -
STIT 5LEH#HE
HIGH QUALITY TAPER BUSH

(in.)

BUSH L A D SENSCREWS
1008-3030 No. DIA x LENGTH
SET SCREW 1008 7/8 1.386 1-21/64 1/4x1/2
(2 PCS REQUIRED)
1108 7/8 1.511 | 1-29/64 1/4%x1/2
1210 1 1-7/8 1-3/4 3/8x5/8
. 1610 1
D A ,J 2-1/4 2-1/8 3/8x5/8
T | 1615 1-1/2
. | 4 v\ 2012 1-1/4 2-3/4 2-5/8 7/16x7/8
: U 4 2517 1-3/4 3-3/8 3-1/4 1/2x1
3020 2
4-1/4 4 5/8x1-1/4
3030 3
3525-5050 (in.)
BUSH SET SCREWS
T N L A D CAP SCREWS | E°
CAP SCREWS 2 DIA x LENGTH
(3 PCS REQUIRED) 3525 2.1/2
5 4.83 1/2x1-1/2 40°
3535 3-1/2
4
030 < 5-3/4 | 5.54 5/8x1-3/4 40°
4040 4
4535 3-1/2
6-3/8 | 6.13 3/4x%2 40°
4545 4-1/2
5040 4
7 6.72 7/8%2-1/4 37°
5050 5
www.silvertech.com.hk 1 08

$EEZF TAPER BUSH

SIIVERTECH



HSNg YH3dVL 4% S5

[&HR?}' Dimension

— SuyvirtecH

#E R EN ]
BUSH BORE BUSHING
No. KEYWAY

10 3 x4

11,12 4x1.8

1008 14,16 5x2.3

18,19,20,22 6x2.8

24,25 8x2.0

10 3x14

11,12 4x1.8

. 14,16 5x2.3

18,19,20,22 6x2.8

24,25 8x3.3

28 8x2.0

11,12 4%x1.8

14,16 5x2.3

1210 18,19,20,22 6x2.8

24,25,28,30 8x3.3

32 10x3.3

14,16 5x2.3

1615 18,19,20,22 6x2.8

24,25,28,30 8x3.3

1610 32,35,38 10x3.3

40 12 3.3

42 12x2.2

18,19,20,22 6x2.8

24,25,28,30 8x3.3

2012 32,35,38 10x3.3

40,42 12x3.3

45,48,50 14x3.8

20,22 6x2.8

24,25,28,30 8x3.3

32,35,38 10x3.3

e 40,42 12x3.3

45,48,50 14 x3.8

55 16x4.3

60 18x4.4

109

(mm.)
HEE B B
BUSH BORE BUSHING
No. KEYWAY
25,28,30 8x3.3
4090 32,35,38 10%3.3
40,42 12%3.3
45,4850 14%3.8
3030 55 16x4.3
60,65 18x4.4
70,75 20x4.9
35,38 10%3.3
40,42 12x3.3
3525 45,48,50 14 x3.8
55 16%4.3
60,65 18x4.4
3535 70,75 20x4.9
80,85 22x5.4
90 25x5.4
40,42 12x3.3
45,4850 14%3.8
4030 55 16 % 4.3
60,65 18 % 4.4
70,75 20x4.9
=SSl 80,85 22x5.4
90,95 25x5.4
100 28 x 6.4
55 16%4.3
60,65 18x4.4
4343 70,75 20%4.9
80,85 22x5.4
4545 90,95 25x5.4
100,105,110 28x6.4
60,65 18x4.4
5040 70,75 20%4.9
80,85 22x5.4
90,95 25x5.4
5050 100,105,110 28x6.4
115,120,125 32x7.4

www.silvertech.com.hk

¥ R~} Dimension

(In.)
i SN i EERE SN i
BUSH BUSHING BUSH BUSHING
BORE BORE
No. KEYWAY No. KEYWAY
1/2,9/16 1/8 x 1/16 15/16,1,1-1/8,1-3/16,1-1/4 114 % 1/8
1008 5/8,11/16,3/4,13/16,7/8 3/16 x 3/32 1-5/16,1-5/8 5/16 x 5/32
15/16,1 1/4 x 1/16 1-7/16,1-1/2,1-9/16,1-5/8,1-11/16
3020 3/8 x 3/16
1/2,9/16 1/8 x 1/16 1-3/4
5/8,11/16,3/4,13/16,7/8 3/16 x3/32 1-13/16,1-7/8,1-15/16,2,2-1/16,2-1/8
1108 3030 1/2 x1/4
15/16,1 114 x 1/8 2-3/16,2-1/4
1-1/16,1-1/8 1/4 x 1/16 2-5/16,2-3/8,2-7/16,2-1/2,2-5/8
5/8 x 5/16
1/2,9/16 1/8 x 1/16 2-11/16,2-3/4
S 5/8,11/16,3/4,13/16,7/8 3/16 x 3/32 2-7/8,2-15/16,3 3/4 x 1/4
15/16,1,1-1/16,1-1/8 1-3/16,1-1/4
1/4 x 1/8 14> 178
1-3/16,1-1/4 1-3/8 5/16 x 5/32
1/2,9/16 1/8 x 1/16 1-7/16,1-1/2,1-5/8,1-11/16,1-3/4 3/8 x 3/16
5/8,11/16,3/4,13/16,7/8 3/16 x 3/32 3525 1-7/8,1-15/16,2,2-1/8,2-3/16,2-1/4 12 x 1/4
1510 15/16,1,1-1/16,1-1/8 D x 1/ 2-5/16,2-3/8,2-7/16,2-1/2,2-5/8 —
X x
1-3/16,1-1/4 3535 2-11/16,2-3/4
1-5/16,1-3/8 5/16 x 5/32 2-7/8,2-15/16,3,3-1/8,3-3/16,3-1/4 3/4 x 3/8
Lo 1-7/16,1-1/2 3/8 x 3/16 3-5/16,3-3/8,3-7/16,3-1/2 718 x 1/4
1-9/16,1-5/8 3/8 % 1/8 3-15/16 1x1/4
1/2,9/16 1/8 x 1/16 1-7/16,1-1/2,1-5/8,1-11/16,1-3/4 3/8 x 3/16
5/8,11/16,3/4,13/16,7/8 3/16 x 3 x 32 1-7/8,1-15/16,2,2-1/8,2-3/16,2-1/4 12 % 1/4
15/16,1,1-1/16,1-1/8 il xia 4030 2-3/8,2-7/16,2-1/2,2-5/8,2-11/16,2-3/4| 5/8 x 5/16
x
1-3/16,1-1/4 — 2-7/8,2-15/16,3,3-1/8,3-3/16,3-1/4 3/4 % 3/8
2012 1-5/16,1-3/8 5/16 x 5/32 3-3/8,3-7/16,3-1/2,3-3/8,3-11/16,3-3/4| 7/8 x 7/16
1-7/16,1-1/2,1-9/16,1-5/8 3-7/8,3-15/16,4,4-7/16 1x1/4
3/8%x3 %16
1-11/16,1-3/4 1-15/16,2,2-3/16 12 x 1/4
1-13/16,1-7/8 112 x 1/4 2-3/8,2-7/16,2-5/8,2-3/4 5/8 x 5/16
1-15/16,2 1/2 x 3/16 2-7/8,2-15/16,3,3-1/8,3-3/16,3-1/4 3/4 % 3/8
1/2 1/8 x 1/16 4535 3-3/8,3-7/16,3-1/2,3-5/8,3-3/4 718 x 7/16
5/8,11/16,3/4,13/16,7/8 3/16 x 3/32 505 3-7/8,3-15/16,4,4-1/8,4-3/16,4-1/4 1%x1/2
15/16,1-1/16,1-1/8 4-3/8,4-7/16,4-1/2 1x1/4
1/4 x 1/8
1-3/16,1-1/4 4-15/16 1-1/4 x 114
1-5/16,1-3/8 5/16 x 5/32 2-7116 5/8 x 5/16
2517 5040
1-7/16,1-1/2,1-9/16,1-5/8 2-15/16 3/4 x 3/8
1-11/16,1-3/4 3/8 x 3/16 5050 3-3/8,3-7/16,3-5/8 7/8 x 7/16
1-13/16,1-7/8,1-15/16,2 3-7/8,3-15/16,4,4-1/4,4-3/8,4-7/16,
1/2 x 1/4 ElE
2-1/16,2-1/8,2-3/16,2-1/4 4-1/2
2-5/16,2-3/8,2-7/16,2-1/2 5/8 x 3/16 4-7/8,4-15/16,5 1%1/4%7/16

www.silvertech.com.hk

110

$EEZF TAPER BUSH

SIIVERTECH



	国产件封面
	封面 联轴器 链条1-28-01
	卡圈全部93-108-8
	胀套109-165-01

